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5 R 4 ﬁqé){ ‘Fﬁﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁﬁgﬁ%g;k‘?u ‘(.%r‘n%< jj(g')\;tnié X 4 ;.g,r'na; J:ﬁﬁ*ﬁb\(‘z)d)tt% jj(gi;tnié X 4 Lﬁﬁh\(i)@tb% z.%r‘n? J‘J(gifn?)é
; 100kN/M#%#BZ % — -~ = —|3mEBZZ| — ~ — — — | 100kN/m%Z#8Z % — - ~ — — |3m%i#BZ % - ~ — — —
ZhnLs 1.00| 000 ~ 476 59.36 | #hst | 0oo ~ 000|167 8.44 Zzh st 1.00 | 6.00 ~ 5.02 59.36 | TN | 5,00 ~ 502|167 8.44
2 100kN/m##8%%| 1.00| 000 ~ 100 11507 |3mEBZB| — ~ — — — | 100kN/m%E#8z25 | 1.00 | 1055 ~ 1355 11507 |3mZE#BZ5 - ~ — — —
Zhnst 100|100 ~ 879 100.00| #nLs | 0oo ~ 879|222 11.22 Zzh st 1.00 | 5.00 ~ 1055 100.00 | TN | 5,00 ~ 1355 2.22 11.22
3 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh st 1.00 | 0.00 ~ 7.71 98.97 | #nLs | 0oo ~ 7.71) 209 10.58 Zzh st 1.00 | 5.00 ~ 1054 98.97 | #hS | 5.00 ~ 1054 2.09 10.568
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%i#BZ2% - ~ — — —
Zzhnst 1.00 ] 000 ~ 769 9864 | Fns | ooo ~ 769|252 11.72 Zzh st 1.00 | 5.00 ~ 1061 98.64 | TN | 5,00 ~ 1061 |2.52 11.72
5 100kN/mM#%# 8% % — -~ = —|3mZEBz2| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#BZ% - ~ — — —
Zhst — — ~ — —| = st - ~ — — — Zzh st — - ~ — — | #h st — ~ — — —
6 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
Zhnst — — ~ — —| #n st - ~ — — — Zzh st — - ~ — — | #h st — ~ — — —
- 100kN/mM#%# 8% % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zhnLst — — ~ — —| = st -~ — — — zhst — -~ — — | #h st — ~ — — —
s 100kN/m##8%%| 1.00| 000 ~ 025 10374 |3mEBZZ| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 11.18 ~ 11.88| 103.74 |3m%E#BZ3 - ~ — — —
LS 1001025 ~ 804 100.00| Ths | 000 ~ 804|1.93 9.74 zhst 1.00 | 5.00 ~ 11.18| 100.00 | TN | 5.00 ~ 11.88| 1.93 9.74
9 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
zh s 1.00 | 000 ~ 7.74 99.36 | FhLst | 0.00 ~ 000|173 8.73 Zhs 1.00 | 5.00 ~ 1048 99.36 | FnLS | 5,00 ~ 1048 1.73 8.73
10 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3mEiEZ S - ~ — — —
LS 1.00 1 000 ~ 769 98.66 | #nst | ooo ~ 000|1.75 8.84 zhst 1.00 | 5.00 ~ 1031 98.66 | TnLS | 5,00 ~ 1031|1.75 8.84
17 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
LS 1.00 | 000 ~ 758 96.97 | #Fnust | 000 ~ 0.00]1.67 8.46 zhst 1.00 | 5.00 ~ 1031 96.97 | NS | 5.00 ~ 1031 1.67 8.46
12 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
Zh st 1.00 | 000 ~ 767 98.27 | #nst | 000 ~ 000|170 8.60 Zh st 1.00 | 6,00 ~ 1038 98.27 | NS | 5,00 ~ 1038 1.70 8.60
19 100kN/mM%#EZ % — - ~ — —|3mEEZD| — ~ — — — | 100kN/ M %825 — - ~ — — |3mEEBZ D - ~ — — —
LS 1.00 | 000 ~ 720 91.66 | #npst | 000 ~ 0.00)1.69 8.566 Zhus 1.00 | 5.00 ~ 9.28 91.66 | Tnst | 500 ~ 9.28 | 1.69 8.66
14 100kN/mM%#EZ % — - ~ — —|3mEEZD| — ~ — — — | 100kN/ M %825 — - ~ — — |3mEEBZ D - ~ — — —
ZThLLS 1.00 | 000 ~ 441 55.04 | FhLst | 0.00 ~ 441|260 13.12 Zhs 1.00 500 ~ 1239 55.04 | EnLS | 5.00 ~ 1239 2.60 15.12
15 100kN/mM%#E% % — -~ — —|3mEEZD| — ~ — — — | 100kN/ M %825 — -~ — — |3mEEZD - ~ — — —
st 1.00 1 000 ~ 6.75 85.25 | =hst | ooo ~ 675|210 10.569 Zzh st 1.00 | 5.00 ~ 10.34 85.25 | #hs | 5.00 ~ 1034|210 10.569
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16 100kN/M#%#BZ % — -~ = —|3mEBZZ| — ~ — — — | 100kN/m%Z#8Z % — - ~ — — |3m%i#BZ % - ~ — — —
ZhnLs 1.00 | 000 ~ 631 79.27 | FnRS | 000 ~ 631|181 9.17 Zzh st 1.00 | 6.00 ~ 744 79.27 | #hS | 65,00 ~ 744 | 1.81 9.17
17 100kN/mM##BZ % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#BZ % — - ~ — — |3m%i#BZ % - ~ — — —
Zhnst 1.00 | 000 ~ 620 77.86 | EnS | 000 ~ 620\ 1.90 9.60 ZThLLS 1.00 | 5,00 ~ 7.56 77.86 | #hLS | 5,00 ~ 756 | 1.90 9.60
19 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh st 1.00 | 000 ~ 490 61.07 | Thst | 000 ~ 000]1.77 8.95 Zzh st 1.00|5.00 ~ 5.19 61.07 | #hS | 500 ~ 519|1.77 895
19 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%i#BZ2% - ~ — — —
Zzhnst 1.00 | 0.00 ~ 7.39 94.32 | #nhst | 000 ~ 739| 1.86 9.40 st 1.00 | 5.00 ~ 9.79 94.32 | #hs | 5.00 ~ 9.79 | 1.86 9.40
20 100kN/mM#%# 8% % — -~ = —|3mZEBz2| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#BZ% - ~ — — —
Zhst 1.00 | 0.00 ~ 7.37 93.94 | #hdst | oo ~ 000|170 8.58 Zzhn st 1.00 | 5.00 ~ 9.64 93.94 | #hs | 65,00 ~ 9.64|1.70 8.68
27 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
Zhnst 1.00 | 0.00 ~ 7.38 94.15 | #hdst | 0oo ~ 000|173 8.76 Zzhn Lt 1.00 | 5.00 ~ 9.57 94.15 | #hst | 65.00 ~ 9.567|1.73 8.76
29 100kN/mM#%# 8% % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh s 1.00 1000 ~ 635 79.91 | #FhLis | 000 ~ 000|157 7.91 Zh s 1.00 | 5.00 ~ 833 79.91 | ThES | 500 ~ 835 | 1.57 7.91
23 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %5 — - ~ — — |3m%EiEZ S - ~ — — —
LS 1.00 1 000 ~ 4.70 5864 | #ns |ooo ~ 470|1.86 9.42 ZThLLS 1.00 | 5.00 ~ 5.10 5864 | TnLS | 500 ~ 5.10 | 1.86 9.42
Py 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
zh s 1.00 | 0.00 ~ 684 86.54 | FhLst | 0.00 ~ 684|259 13.11 Thelst 1.00 | 500 ~ 1066 86.54 | FnLst | 5,00 ~ 1066 2.59 13.11
95 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3mEiEZ S - ~ — — —
zh s 1.00 | 0.00 ~ 7.09 90.01 | #hlst | 000 ~ 7.09| 1.93 9.76 Thelst 1.00 500 ~ 9.51 90.01 | #nst | 500 ~ 9.51|1.93 9.76
26 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
zh s 1.00 | 0.00 ~ 4.36 54.45 | FhLst | 0.00 ~ 4536|202 10.19 ZThLLS 1.00|5.00 ~ 521 54.45 | FnLS | 500 ~ 521|202 10.19
97 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
LS 1.00 | 0.00 ~ 4.84 60.31 | #Fhbs | 000 ~ o0.00| 1.68 8.560 Zhus 1.00 | 5.00 ~ 511 60.31 | ThES | 500 ~ 511 | 1.68 8.60
28 100kN/mM%#EZ % — - ~ — —|3mEEZD| — ~ — — — | 100kN/ M %825 — - ~ — — |3mEEBZ D - ~ — — —
LS 1.00 | 0.00 ~ 389 48.81 | Fhblst | 000 ~ 389|228 11.54 ThLLsh 1.00 500 ~ 625 48.81 | ThES | 500 ~ 625|228 11.54
29 100kN/m##E%2%| 1.00| 000 ~ 035 1056.15 |3m&EEZD| — ~ — — — | 100kN/mM%#z25| 1.00 | 1202 ~ 1339 10515 |3mE#BZ5 - ~ — — —
Zzh st 100|035 ~ 813 100.00 | =ns | 000 ~ 813| 1.96 9.92 Zh st 1.00 | 56.00 ~ 1202 100.00 | TN | 500 ~ 1339 1.96 9.92
20 100kN/m##E%2%| 1.00| 000 ~ 0.78 111.65 |3m&xEZD| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1202 ~ 1545| 111.65 |3mZEHBZS - ~ — — —
st 1.00 | 0.78 ~ 8567 100.00 | =0y | 000 ~ 8567213 10.78 Zzh st 1.00 | 5.00 ~ 1202 100.00 | #nLS | 6,00 ~ 1545|213 10.78
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5 R 4 .(%;S 'Fuﬁﬁb‘(:)d)ﬂﬁﬁiﬁ jj(g')\lj/kn%é X 4 ‘Fumﬁ%zgikﬁ .a? jj(g')\;tnié X 4 ':TS J:mb\(z)o)tt.% jj(gi;tr:_%)é X 4 Lmh\(z)wtt.% .(ES t&ﬁ?)é
27 100kN/m##8%%| 1.00| 000 ~ 104 11570 |3mEBZB| — ~ — — — | 100kN/mMZE#BZ25 | 1.00 | 11.52 ~ 1590 | 115.70 |3mZE#BZ5 -~ — — —
ZFhLs 1.00] 104 ~ 883 100.00| ThLs | 0oo ~ 883|217 10.96 Zzh st 1.00|56.00 ~ 1152 100.00 | ThLS |5.00 ~ 1590|217 10.96
22 100kN/mM##BZ % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#BZ % — - ~ — — |3m%i#BZ % - ~ — — —
Zhnst 1.00 | 0.00 ~ 7.74 99.30 | =S | 0oo ~ 7.74)1.95 9.84 Zzh st 1.00 | 5.00 ~ 1217 99.30 | #hs | 5.00 ~ 1217| 1.95 9.84
23 100kN/m##8%%5| 1.00| 000 ~ 048 10713 |3mEBZB| — ~ — — — | 100kN/mi% 2% | 1.00 | 11.62 ~ 1341 107.13 |3m&HEAS - ~ — — —
zh st 1.001 048 ~ 827 100.00 | Ths | 000 ~ 827|1.99 10.05 ZThLLS 1.00 | 5.00 ~ 11.62| 100.00 | TN | 5,00 ~ 1341 | 1.99 10.06
24 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%i#BZ2% - ~ — — —
Zzhnst 1.00 ] 000 ~ 4.76 59.34 | #ns | ooo ~ 476 1.79 9.06 ZThLLS 1.00|5.00 ~ 5.03 59.34 | TnLS | 5,00 ~ 5.03|1.79 9.06
25 100kN/mM#%# 8% % — -~ = —|3mZEBz2| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#BZ% - ~ — — —
Zhst 1.00 ] 000 ~ 519 64.70 | Thst | 000 ~ 519)| 1.94 9.83 ZThLLS 1.00 | 5.00 ~ 6.09 64.70 | =S | 5,00 ~ 6.09 | 1.94 9.83
26 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.34 79.72 | EnLS | 000 ~ 634| 1.86 9.39 Zzh st 1.00 | 5.00 ~ 7.63 79.72 | =nS | 600 ~ 763 1.86 9.39
37 100kN/mM#%# 8% % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh s 1.00 | 0.00 ~ 601 75.34 | TS | 000 ~ 601|192 9.68 LS 1.00 | 5.00 ~ 7.30 75.84 | TS | 5,00 ~ 7.80 | 1.92 9.68
28 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %5 — - ~ — — |3m%EiEZ S - ~ — — —
zh s 1.00 | 0.00 ~ 550 68.65 | #FhLs | 0oo ~ 550|205 10.54 Zh s 1.00 | 5.00 ~ 722 68.65 | TS | 500 ~ 722|205 10.54
29 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZS - ~ — — —
zh s 1.00 | 0.00 ~ 367 46.23 | #Fhbst | 0oo ~ 367|236 11.95 Zhs 1.00 500 ~ 657 46.23 | ThES | 500 ~ 6.57|2.56 11.95
40 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3mEiEZ S - ~ — — —
zh s 1.00 | 000 ~ 764 97.92 | #Fhiist | 000 ~ 764|231 11.68 Zh s 1.00 | 500 ~ 1045 97.92 | FnS | 500 ~ 1045|231 11.68
41 100kN/m##8%%| 1.00| 000 ~ 015 10218 |3mEBZD| — ~ — — — | 100kN/m#Z#Z25 | 1.00 | 1082 ~ 1123| 102.18 |3mZE#BZ5 - ~ — — —
LS 1001015 ~ 793 100.00 | Ths | 000 ~ 793|232 11.71 zhst 1.00 | 5.00 ~ 1084 100.00 | TN | 5.00 ~ 11.23|2.52 11.71
42 100kN/m##8Z25| 1.00 ] 000 ~ 1.01 115.17 |3mZBZBHl — ~ — — — | 100kN/m%#BZ 5| 1.00 | 11.35 ~ 1453 115.17 |3mZE#BZ3 - ~ — — —
Zzh st 1.00 | 101 ~ 879| 100.00| Tns | 000 ~ 879|240 12.14 Thelst 1.00 | 5.00 ~ 1135 100.00 | Ths | 500 ~ 1453|240 12.14
43 100kN/m##E%2%| 1.00| 000 ~ 204 131.65 |3m&EEZD| — ~ — — — | 100kN/m%E#BZ25| 1.00 | 1065 ~ 1919 131.55 |3mZE#BZ% - ~ — — —
Zh st 1.00 | 204 ~ 982 100.00| Tns | 000 ~ 982|230 11.60 Zhus 1.00 | 5.00 ~ 1065 100.00| Ths | 500 ~ 1919|230 11.60
44 100kN/mM%#EZ % — - ~ — —|3mEEZD| — ~ — — — | 100kN/ M %825 — - ~ — — |3mEEBZ D - ~ — — —
Zh st 1.00 | 0.00 ~ 4.77 59.44 | #nist | 000 ~ 0.00]| 1.68 8.48 Zhs 1.00 | 5.00 ~ 5.02 59.44 | FnLS | 500 ~ 502 1.68 848
& 100kN/mM%#E% % — -~ — —|3mEEZD| — ~ — — — | 100kN/ M %825 — -~ — — |3mEEZD - ~ — — —
Zh LS - -~ - —| Zh st -~ - — — Zh Lo — — ~ — —| #hiist — ~ — —
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46 100kN/M#%#BZ % -~ = ImEBZE| — ~ — — — | 100kN/m%Z#8Z % — - ~ — — |3m%i#BZ % — — —
ZFhust - ~ = zh s - ~ = — — Zh s — - ~ — — | Zhiis — — —
47 100kN/mM##BZ % -~ = ImEBZB| — ~ — — — | 100kN/mM%Z#BZ % — - ~ — — |3m%i#BZ % — — —
Zhnst — ~ — Zhn s - ~ — — — Zzh st — - ~ — — | #h st — — —
48 100kN/mM#%# 8% % -~ = 3mEBZB| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% — — —
zh st 0.00 ~ 4.78 znLs | ooo ~ 000|172 8.68 Zzh st 1.00 | 6.00 ~ 5.01 59.60 | TN | 5.00 1.72 8.68
100kN/mM#%#BZ % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS
Zzhnst ~ Zhn s ~ Zzh st ~ ZzhnLs
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS
Zhst ~ Zh s ~ Zzh st ~ ZzhnLs
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS
Zhnst ~ Zhn s ~ Zzh st ~ ZzhnLs
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS
zhnLst ~ zhLs ~ zhst ~ zhLs
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD
zhs ~ zhLs ~ zhst ~ zhLs
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD
zhs ~ zhLs ~ zhst ~ zhLs
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD
ZzhLst ~ zhLs ~ zhst ~ zhLs
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD
zhst ~ zhLs ~ zhst ~ zhLst
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD
Zzh st ~ Zzh st ~ ThLLsh ~ LS
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD
Zh st ~ Zzh st ~ ThLLsh ~ NS
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD
Zh st ~ Zzh st ~ ThLLst ~ LS
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD
Zh LS ~ Zh s ~ Zh Lo ~ Zh LS
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